Calculating Savings

2 2

The following example compares two lighting options: the old incandescent lighting
most of us grew up with and the new compact florescent that many of us are
changing to.
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In order to calculate the savings, we need some baseline information. This example
looks at an office building, hotel, or plant where incandescent lighting is used.

Question Answer

1 What is the unit price of the original product being
used?

1 What is the unit price of the replacement product?

2 Meed to convert between Watts and Kilowatts,
enter: 1,000,

2 Need to differentiate the old from the new price,
enter: -1.

3 How many sockets are there in the plant?

3 What does it cost in labor to perform each
installation?

3 What is the life, in hours, for the new lamp?

3 What is the life, in hours, for the old lamp?

3 What is the wattage for the new lamp?

3 What is the wattage for the old lamp?

How many days does the plant operate per year?

How many hours does the plant operate per day?

What cost does the customer pay for a single
kilowatt?

45
3.50
1,000

2,000
10.00
8,000
1,000
25
100

250
16

.06

LUOM

Dollar Value
Dollar Value
1,000

-1

Physical Count
Dollar Value

Mumber of Hours
Mumber of Hours
25 Watts

100 watts
Mumber of Days

Mumber of Hours

Dollar Value

Please note that the numbers are just examples and may not reflect your costs.
This is just one example of how to measure Total Cost savings.
Note: calculators such as this can be built for any product or service that reduces

the customer’s total operating costs.
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Based on the information of the previous page, this customer would save
$106,100 per year for paying $3.50 per light bulb verses the original $0.45.

& Add M Remove

Expenditures Reductions
A) Annual - _
Dollar Type One Time/ On ( - (B) Price Annual Savings
TCO Component (Hard/Soft) Going Used/ Not Used Quantities Differences (A*B)
Impacted
[] New Lamp Hard Dollar On Going Used 1,000.00 @ -§3,500.00
[] oid Lamp Hard Dollar On Going Used 8,000.00 C $0.457 §3,600.00
[] utilities: Lighting Electricity Hard Dollar On Going Used 600,000,00 0,06 £36,000.00
Annual Expenditures Impact £36,100.00
Process Improvements * Add ¥ Remove
100 Component Dollar Type 'I'lrl?:f{)n Used/ (A)Past (B) Frequency (C)Current (D) Freguency Process Savings
po (Hard /5oft) T Not Used Process Cost of PastUse Process Cost of Current Use  (A*B)-(C*D)
[] Installation: cost HardDollar  OnGoing  Used £10.00 8,000.00 £10.00 1,000.00 £70,000.00
Annual Process Impact S70,000.00

Services Provided % Add ™ Remove

Dollar Type OneTimef On Used/ Mot (A) Value of Services (B) Time Involved (or Value Added (A*B)

B (Hard /5oft) Going Used (or Training) People Trained)
Annual Services Impact 50,00
Other Savings % Add M Remove
TCO Component Dollar Type (Hard/Soft) One Time,/ On Going Used/ Not Used Value of Saving
Annual Impact (Other) £0.00

£1065,100.00

Estimated Annual Impact
i save And Exit

How is this savings calculated? By evaluating three cost drivers:

1. Price: while the new product costs more per unit, it lasts longer, requiring fewer units
2. Energy: The new lamp only uses 25 watts versus the 100 watts used by the old lamp
3. Installation or personnel costs: since the new bulb lasts longer (8 times as long)
maintenance time can be reduced
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So how can you know the savings are real?
In this case, the saving calculations can be followed below:

1. The plant operates for 250 days a year (how many days the lights are on)
2. Multiplied by the hours per day the lights are on (16) and you get the hours
per year all the lights are on.
3. Multiply this by 2,000, the number of lights in this building and you get the
energy hours consumed per yeatr.
4. If you then multiply this by the difference in wattage (100 vs 25 watts) you
get the energy reduction
Formula Box - Expenditures Reductions - Utilities: Lighting Electricity t Refresh Formulz gl Save 4= Back

{A) Annual Quantities Impacted

Enter Formula (((250.00*15,00)*2000.00)*(100.00-25.00))/1000.00

(B} Price Differences

Help
Value Description
250,00 How many days does the plant operate per year?
16.00 How many hours does the plant operate per day?
2000,00 3 How many sockets are there in the plant?
100,00 3 What is the wattage for the old lamp?
25.00 3 What is the wattage for the new lamp?
1000,00 2 Meed to convert between Watts and Kilowatts, enter: 1,000,
Enter Formula 0.06 Help
Value Description
0,06 What cost does the customer pay for a single kilowatt?
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Add in a write up, and you have a
sample report that allows you to
discuss the benefits of substituting
products.

Not only does this show the potential
total cost savings, it also points out why
some customer personnel
(maintenance and/or operations for
example) might want to work with a
supplier that offers products and
services that cost more, but save them
time and other costs.

Purchasing: imagine being able to
evaluate suppliers on a Total Cost
basis, how would having such reports
help you hake sound financial
purchasing decisions?

Sales: imagine being able to prove you
are the lowest total cost supplier.
Imagine the competitive advantage it

could create.
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Now imagine the impact if you could use this to understand the Return on
Investment and Payback periods from such products.

Cumulative Yearly Calculati Feb zn#:—atl First  Feb znl_}r;ﬁ Feb zn:(:—alrs Third F:ll:. rzlijlil‘.?;: Feb zn;;;:s Fifth

Carry Over 50.00 $106,100.00 $212,200.00 $318,300.00 5424,400.00
Investments ($3,500.00) ($3,500.00) ($3,500.00) ($3,500.00) ($3,500.00)
Savings (Return) 5109,600.00 $109,600.00 $109,600.00 $109,600.00 5109,600.00
Annual Impact (Net Profit) $106,100.00 $106,100.00 $106,100.00 $106,100.00 $106,100.00
Cumulative Impact (Cumulative Profit) 5106,100.00 $212,200.00 $318,300.00 $424,400.00 $530,500.00
ROI= Annual Impact (Net Profit)investment 3,031% 3,031% 3,031% 3,031% 3,031%

Payback Period Approx. 0 year(s} and 0 month(z)

Cumulative Profit Over a 5 Years Period £530,500.00
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Thank You for Your Time

If you have any guestions or comments,
please feel free to contact us.

V

oBS

Strategic Business Solutions, L.L.C.
(918) 494-8085
Tim.Underhill@sbs4me.com




